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1 |E¥sE (26%) 2,500 31 | RF—ILiH(A) 1,500
2 |EERE (26%) 2,500 32 |RF—ILi(B) 2,000
3 |BEREXT{T(26%!) 3,000 33 |RF—ILHA(C) 1,000
4 |BEREXT{T(26%) 3,000 34 |h5—RyIR 1,000
5 |BEREXT7{T(26%!) 3,000 35 [LVF(A) 1,000
6 |BEREXT7{T(26%!) 3,000 36 [LVg(B) 500
7 |BEREXT7F(26%!) 3,000 37 [L\F(C) 1,000
8 |BEREXT7{T(26%) 3,000 38 [LVF (D) 1,000
9 |BEREXT(27RY) 3,500 39 [/fVaAVTRY 1,500
10 |BEREX 71 (27RY) 3,500 40 [Hl-LWF vk 1,500
11 |BEREX7 (278 3,500 M| RED2YFIHL 1,500
12 |#rYf-f=-#B%xE (20%) | 3,000 42 |25vTS5vY 1,000
13 |HrYf-f=-#B%xE (20%) | 3,000 43 |Z BRI (K& 1,000
14 |BEREX7 {1 (247) 2,500 44 |ZHBW(RF—IL) 1,000
15 |BEREX7 {1 (227)) 2,500
16 |BEREX7 {1 (227!) 2,500
17 |BEREX7 {1 (20%!) 2,500
18 |BEREX7 {1 (20%!) 2,500
19 |EHEzE (18%Y) 1,500
20 |BE¥RE (18%Y) 1,500
21 |BEREMHBIT (185Y) 1,500
22 |BEREFHBIMT (165Y) 1,500
23 |BEEEMBIfT (148) 1,000
24 |BEREFHBIMT (145Y) 1,000
25 |ELVY 1,500
26 |FSRYY 1,500
27 |IRE—Fz7—(A) 1,000
28 | RE—Fxz7—(B) 1,500
29 [F9A—ILZS5—(A) 800
30 [A—ILZ5—(B) 1,000




